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Question 1

Question Type: MultipleChoice

Refer to the exhibit.

age Nnot d or type unknown

The application follows a containerized microservices architecture that has one container per microservice. The microservices
communicate with each other by using REST APIs The double-headed arrows m the diagram display chains of synchronous HTTP calls
needed for a single use/request Which action ensures the resilience of the application in the scope of a single user request’

Options:

A) Redesign the application to be separated into these three layers Presentation. API. and Data
B) Implement retries with exponential backoff during HTTP API calls
C) Set up multiple instances of each microservice m active/active mode by using the Orchestrator

D) Create two virtual machines that each host an instance of the application and set up a cluster

Answer:

A



Question 2

Question Type: MultipleChoice

An application has these characteristics
* provide one service or function

* distributed database

* AP| gateway

* central repository for code

* configuration database

* uses session management

Which two design approaches contribute to the scalability of the application'? (Choose two )

Options:

A) built to scale based on a star topology



B) modular design iteration
C) session management in a stateless architecture
D) planned before the first device is deployed

E) distributed computing with tightly coupled components

Answer:

A C

Question 3

Question Type: MultipleChoice

Refer to the exhibit A script returns the location of a specific access point when given the access point name If a user enters a search
value such as DROP TABLE access points then the entire table is removed. What must be added to the box where the code is missing
to prevent a SQL injection attack?

A)

age not d or type unknown

B)



age not d or type unknown

C)

age not d or type unknown

D)

age not 1guhd or type unknown

Options:

A) Option A
B) Option B
C) Option C
D) Option D

Answer:

D



Question 4

Question Type: DragDrop
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Refer to the exhibit above and click on the resource tabs in the top left corner to view an IETF TANG MODEL and a Python file that
changes the configuration via RESTCONF. Drag and drop the code snippets from the left onto the item numbers on the right that match

the missing sections in the exhibit to complete the JSON file that changes configuration of interface GigabitEthernetl to have an IPv4
configuration of 10.10.0.1/24. Not all options are used.
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Drag drop the code from the bottom onto the box where the code is rrnssmg to create a Webex space Not ail options are used.

age n d or type unknown

e not d or type unknown
RRewal

20€ NO d or type unknown

Question 6

ahd or type unknown

FKT BXTodnd or type unknown
/' \




Question Type: MultipleChoice

Refer to the exhibit. The JSON response is received from the Meraki location API. Which parameter is missing?

Options:

A) apMac
B) clientMac
C) clientld

D) accesspoint

Answer:

B

Question 7

Question Type: DragDrop

Rage not foupd or type

etione mmbove and click on the tab in the top left corner to view a diagram that describes the typical flow of requests involved
vebhook is created for a booking service. Drag and drop the requests from the left onto the item numbers on the right that match

age not d or type unknown
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the missing sections in the sequence diagram to design the complete flow of requests involved as a booking is updated from a web

application.
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6l.drop the,steps from the left into the order of operation on the right for a successful OAuth2 three-legged authorization code
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ek on tha fiefaki Resources tab in the left corner to view Meraki documentation to help with this question.Drag and drop the parts of

h n code from the left onto the item numbers on the right that match the missing sections in the exhibit to enable an SSID. Not all
€ S are used.
6 6 type UAkREWR

Refer to Hhe exhibits, An interface named "GigabitEthernet2” has been configured on a Cisco 10S XE device. Using RESTCONF APIs as
y the ietf-interfaces@2014-05-08.yang model, which two combinations of "rest_operation" and "payload” must be added to the
St §8 the "description” to "Configured by RESTCONF"? (Choose two.)
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Options:

A) Option A
B) Option B
C) Option C
D) Option D
E) Option E

Answer:

A B

Question 11

Question Type: MultipleChoice

Which tow actions must be taken when an observable microservice application is developed? (Choose two.)

Options:




A) Know the state of a single instance of a single service.
B) Place "try/except" statement in code.

C) Place log statements in the code.

D) Use distributed tracing techniques.

E) Deploy microservice to multiple datacenters.

Answer:

B, C
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